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LINEAR INEQUALITIES

1.Solve |z| + |z — 2| = 2.

o Watch Video Solution

2.5olve z? — 4|z| + 3 < 0.


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_C5uvrRxVuA2G
https://dl.doubtnut.com/l/_0TqgzDmnIQAW

o Watch Video Solution

3.Is |tanz + cot x| < |tanz| + |cot x| true for any x 7 If

it is true, then find the values of z.

o Watch Video Solution

4.Solve ||z — 1| — 2| < 5.

o Watch Video Solution

5.For z € R, find all possible values of |z — 3| — 2 (ii)

4 — |2z + 3|
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https://dl.doubtnut.com/l/_0TqgzDmnIQAW
https://dl.doubtnut.com/l/_8NT9kvemsdTx
https://dl.doubtnut.com/l/_jQoj8LpdrURD
https://dl.doubtnut.com/l/_X20maReqwO5S
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6. Solve |x+1|+|2x-3|=4."

° Watch Video Solution

7. Find the possible values of 4/|z| — 2 (ii) \/3 — |z — 1]
(iii) /4 — V&’

o Watch Video Solution

8. Prove that
—2r< —1

\/w2—|—2w—|—1—\/w2—2x—|—1: 2z, —1 < x <1
2,x > 1
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https://dl.doubtnut.com/l/_X20maReqwO5S
https://dl.doubtnut.com/l/_fh5CV0TMREww
https://dl.doubtnut.com/l/_x776mDH7i1zm
https://dl.doubtnut.com/l/_ABjlnBqEvxC1
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9. For 2<z <4 , find the value of |z| For
—3 <z < —1,find the value of |z|- For — 3 <z < 1,
find the value of |z|- For —5 < z < 7, find the value of

|l — 2|-For1 < z < 5, find the value of |2z — 7|

° Watch Video Solution

10.Solvez? — 2 —1 <0

° Watch Video Solution

MN.Solvez? —z — 2 > 0.

| & S ]


https://dl.doubtnut.com/l/_ABjlnBqEvxC1
https://dl.doubtnut.com/l/_MHJhIMFPJ3Bz
https://dl.doubtnut.com/l/_HmQao2egx1iE
https://dl.doubtnut.com/l/_gyYEP47pc0ao

[ W Watch Video Solution

12.Solve (22 + 1)(z — 3)(z + 7) < 0

o Watch Video Solution

13.Solve (z — 1)(z — 2)(1 — 2z) > 0

o Watch Video Solution

r—3
>3

14. Solve
3r — 5

o Watch Video Solution



https://dl.doubtnut.com/l/_gyYEP47pc0ao
https://dl.doubtnut.com/l/_dJcKAZnjiLeW
https://dl.doubtnut.com/l/_iQni3MWt91l2
https://dl.doubtnut.com/l/_l5Kaoi1nRRKM

2
15.Solve — < 3
T

o Watch Video Solution

16.Solve z > /(1 — x)

o Watch Video Solution

r — 2 20 — 3
>

17. Sol
7Sove$_|_2 yP—

o Watch Video Solution

2 1

20 — 1

18. Solve

m2—m+1_w+1 B

x3+1 —



https://dl.doubtnut.com/l/_B3szVZLbsV8H
https://dl.doubtnut.com/l/_FwDFLLiSnq3C
https://dl.doubtnut.com/l/_C8uzCuBAE8VM
https://dl.doubtnut.com/l/_C1Ue0EOpjgAC

[ W Watch Video Solution

19.Solve /(2 —5) — /9 —2z> 1,z € Z

° Watch Video Solution

20.5olve |z* + = — 4| = |2 — 4| + |z | -

° Watch Video Solution

21.Solve |2z — 3| + |z — 1| = | — 2|.

o Watch Video Solution



https://dl.doubtnut.com/l/_C1Ue0EOpjgAC
https://dl.doubtnut.com/l/_lznc9GdN0gUf
https://dl.doubtnut.com/l/_cTGgUjCXY5D1
https://dl.doubtnut.com/l/_aNHWgko26QqW

22.Solve |z — 3| > 2

o Watch Video Solution

23.If a, b and c are non-zero rational numbers, then the

. | bl e
sum of all the possible values of e + > + - s

o Watch Video Solution

24.\/x+3—4,/*a;—1+\/w+8—61/*a;—1=1

o Watch Video Solution



https://dl.doubtnut.com/l/_QB7BWEkIfCNB
https://dl.doubtnut.com/l/_OrUPW1Q1rkmo
https://dl.doubtnut.com/l/_GGKh9BRav2cd
https://dl.doubtnut.com/l/_5evC6S7xe6yU

25.Solve |z| = 2 — 1

° Watch Video Solution

26. The sum of real roots of the equation

lz— 27+ |z -2 —2=0is

° Watch Video Solution



https://dl.doubtnut.com/l/_5evC6S7xe6yU
https://dl.doubtnut.com/l/_7jyoxKTNqxRI

27. Number of solution of |22 + 42z + 3| +22 +5 =0

is/are

o Watch Video Solution

28. Find the set of all x for which :

2x S 1
222 + bx + 2 z+1

o Watch Video Solution

1

29. Solve <
z+2 = [af

o Watch Video Solution



https://dl.doubtnut.com/l/_7jyoxKTNqxRI
https://dl.doubtnut.com/l/_DrGu8Bu4maRP
https://dl.doubtnut.com/l/_IK7yl9v2PRnN
https://dl.doubtnut.com/l/_S3AKnNuGzVCh

) 2z — 1 )
30.If S is the set of all real  such that is

333—|—3a:2+x

e (- (1)< (1)

1
(5, 3) e. None of these

o Watch Video Solution

31. The set of all real numbers =z for which
2 — |z +2/+z2>0 is (— o0, —2) b.
(=00, —+/2) U (y/2,00) c (—o00, —1)U(1,00) d.
(v2, o)

o Watch Video Solution



https://dl.doubtnut.com/l/_6EA2zdjKTurv
https://dl.doubtnut.com/l/_xn98ZyyFF2OC

32.If z satifies |z — 1| + |z — 2| + |z — 3| > 6, then (a)

0<zx<4(b)x< —2or >4(0).z<0or x> 4(d).

None of these

o Watch Video Solution

33. The largest interval

12

T —a:9+:1:4

—x+1>0is

for

which

o Watch Video Solution

34.Solve: ||z| — 3| > 1.

o Watch Video Solution



https://dl.doubtnut.com/l/_GUoLlfyPFv8d
https://dl.doubtnut.com/l/_lZLJH86EhMBA
https://dl.doubtnut.com/l/_zGDAKLCwW2xs

35.If [sinz + cos z| = |sinz| + |cos z|(sinz, cos z # 0),

then in which quadrant does x lie?

o Watch Video Solution

36.Solve |3z — 2| = z-

o Watch Video Solution

37.Solvel — x = \/:z:2 — 2z +1

o Watch Video Solution



https://dl.doubtnut.com/l/_pX9cS7aFfAOH
https://dl.doubtnut.com/l/_qFmNqpgyv33b
https://dl.doubtnut.com/l/_lzmEw2mCFnKP

38.5olve |22 — 2z| + |z — 4] > |2® — 3z + 4|

o Watch Video Solution

39. Solve the following: (a) |z —2| = (z —2) (b)

$2—$’:$2—$

o Watch Video Solution

1 -3
40.Let y = \/(aC —; )(:1:2) ) . Find all the real values of
a‘: J—

x for which y takes real values.

o Watch Video Solution



https://dl.doubtnut.com/l/_LFLc0SzrgAGk
https://dl.doubtnut.com/l/_5xAKoGvbQRpF
https://dl.doubtnut.com/l/_U9MiBYKs5x9x
https://dl.doubtnut.com/l/_wFNoQNnmgFzQ

41. Solve: |z — 1| + |z — 2| > 4.

° Watch Video Solution

42. Solve the  following: -2/ =1 (i)

2z + 1> — [z + 1| = 3

° Watch Video Solution

43. Find the value of x for which of following expressions

are defined :

1

1

v+ |zl

[ o Watch Video Solution

(i)

(i)



https://dl.doubtnut.com/l/_wFNoQNnmgFzQ
https://dl.doubtnut.com/l/_DQQuYInJn8XX
https://dl.doubtnut.com/l/_pRZAdIQzuDwd

44. Find all real values of =z which satisfy

a:2—3:1:—|—2>0andx2—2w—4§0.

° Watch Video Solution

45. Find the values of a for which the equation

||z — 2| + a| = 4 can have four distinct real solutions.

° Watch Video Solution

46.Solve x + \/z > \/r — 3

° Watch Video Solution



https://dl.doubtnut.com/l/_pRZAdIQzuDwd
https://dl.doubtnut.com/l/_IZkgGxpSdOYU
https://dl.doubtnut.com/l/_AIahibF1mJzS
https://dl.doubtnut.com/l/_OZclvGw1w61u

47.Solve (a:3 — 490) 2 —1=0.

o Watch Video Solution

48. Solve the following : |z| = 5 (i) z° — || —2 =0

o Watch Video Solution

49. Solve the following 1 < |z — 2| < 3

o Watch Video Solution

50. Solve the following 0 < |z — 3| < 5

| &


https://dl.doubtnut.com/l/_NYmDxcSLyyzI
https://dl.doubtnut.com/l/_jAMYBruySMMv
https://dl.doubtnut.com/l/_Txvtgp6FJ6H0
https://dl.doubtnut.com/l/_m0afqDYOuFLg

[ W Watch Video Solution

51.Solve z(z + 2)*(z — 1)°(2z — 3)(z — 3)* > 0

o Watch Video Solution

52.Solve (2% — 1)(3% — 9)°(z — 3) < 0.

o Watch Video Solution

53.So|ve(:z:2 —x — 1) (zc2 —x — 7) < —5

o Watch Video Solution



https://dl.doubtnut.com/l/_m0afqDYOuFLg
https://dl.doubtnut.com/l/_bbNJ8OJYgfIl
https://dl.doubtnut.com/l/_ic1tZIvtCpZN
https://dl.doubtnut.com/l/_6EP0wgiTFW0n

54. Let a > 2 be a constant. If there are just 18 positive
integers satisfying the inequality

(z — a)(z — 2a)(z — a®) < 0, then the value of a is

o Watch Video Solution

55. Find the set of all possible real values of a such that
the inequality (z — (a — 1))(z — (a2 +2)) < 0 holds

forallz € ( — 1, 3)

o Watch Video Solution

z2 +1
x2 — 2

56. Find all possible vlaues of


https://dl.doubtnut.com/l/_envtHP66K4Tl
https://dl.doubtnut.com/l/_3v2sDSkBNlun
https://dl.doubtnut.com/l/_kKO9HiCjoLiV

o Watch Video Solution

57.Solve \/Jx — 2 > — 1.

o Watch Video Solution

58.5olve v/z — 1> /3 — =

o Watch Video Solution

59.Solve 2% — 1| + [4 — 2°| < 3

o Watch Video Solution



https://dl.doubtnut.com/l/_kKO9HiCjoLiV
https://dl.doubtnut.com/l/_fo7wAMljphN2
https://dl.doubtnut.com/l/_PbkTpd8oq1Q5
https://dl.doubtnut.com/l/_Ak6m1nuuy6Fy
https://dl.doubtnut.com/l/_csM7kdd3Qu69

60.Solve 0 < |z| < 2.

° Watch Video Solution

|z+ 2]

1\ 2=z
61.Sol've(§> . > 9

o Watch Video Solution

62. Integral value of X for, which

bz —1) < (z+1)><7x—3

o Watch Video Solution

Tz —3

63. Solve the following
z+1

B


https://dl.doubtnut.com/l/_csM7kdd3Qu69
https://dl.doubtnut.com/l/_vL7VoVMx3x6e
https://dl.doubtnut.com/l/_Mrf3TzCv19EJ
https://dl.doubtnut.com/l/_i41nbX85pnst

o Watch Video Solution

z+1
64. Solve

1o+ 1l =

(z +1)°

|z|

o Watch Video Solution

3
65.Solve |1 + o > 2

o Watch Video Solution

66. Solve |3z — 2| < 4.

o Watch Video Solution



https://dl.doubtnut.com/l/_i41nbX85pnst
https://dl.doubtnut.com/l/_oTDIuHqzIUsI
https://dl.doubtnut.com/l/_9Tam1dPX7Xl0
https://dl.doubtnut.com/l/_RhjykrBJVeXR
https://dl.doubtnut.com/l/_0s5X51C8O5o2

67. If
f(z) = 2 — 62 — 227 + 1225 + 2* — 72 + 622 + = — 3,

find £(6)-

o Watch Video Solution

68.5olve |z — 3| + |z — 2| = 1.

o Watch Video Solution



https://dl.doubtnut.com/l/_0s5X51C8O5o2
https://dl.doubtnut.com/l/_XIhtstrQesdB

